%F(*la)ﬂ‘(n) | h: Qaexe b ﬁ/_//\,-‘f,(x)
TWs vy < ' 73
‘ 2= (fz(x) y_\é-' 'f.,(x)
lﬂ(h‘, 0 g ﬁs\'b

f ( _{ fong) 0‘6)‘4

160

Ik Sffﬂﬁfdz

- ’v'/""-, D&Xx <4
?r-.i){f (x--a)aﬁuta l h . %; b , s

4
)
A

ol

o+ (o)t = [ ] 4 = flor)




3> “‘xggwga . h: ahre, A= [10], 2 [410) ,C= [011])

e 'IAC X21-% h,: -1¢xs9Q ho: D $x¢A M: 0O<y%4
D £y s Xt D €Y & -xt1 A7 XS -y
n /] /flz,, B
9 ]
= x
$5x oot {f ”‘"’%*ﬂ{’“‘“”‘a

A4 X+4 o

H"’M‘a f Kby )l = j[x-a] e = ([ x(xtn) e s NCERRRZ

-4

¢ 0 -‘Ib -11- 1
SRl < 0= (S8 ard)e-2
1 4-x 4 1 -
frrdety = 1( o) §m,, er §nteom e v -
B S i T R
) 1 LL 3 10 2 3 g//
ety = -2tz 20
% (1-%)13.(*54)
‘g'ﬁ’a""a
1 1-4 4 xz' -y 1 A
_ = X = [[-%) Gy
‘&(xo&ia— é'(éqxo&\o{a ‘E[l‘x%-,‘% ;f( 2 1;_)"& Soaib
‘%
4 LQnLﬂ X:qco(f' x"+|a‘.- %zcr;§+qlnn;.‘lf :
g y 2 8o Y L@ ('t At 6) <§T
b x T to?
—f > X+ =8
4, %(Y)

[ty - J ([ Hsmtgont)edg) 2y

q, Q,(v)



X%t 21 AN X+ S
4 1 g
\\\ "5Q
\\\ T{s(f
9 X
S.\"(Xﬁa")oftoﬂaz
h

TN

T ///A////E X n ﬁ

1) D
2% B
(enttrainte) L §€’°’% 2 [ent-eme]

Hen

9 1 ° :.ﬁ_ r
AT~ ern2l) - (0T - r-nu)] =-2\z

=



6) V'B\’ olso‘u—-1 Llera thqv\il:mfkg Yaqv'e-lulvs‘/e--. ?CX-a)=‘:-xz—bl

-~ - TR Y
Ma wWwo2Zive h X'f-la < 4 -

4'
Z= xti- IQL ﬁ’ ( \| l' h
AREATY l it 'E.?" @r

2
/ h: 0€9<4

Z“'_ut“&z) s D sy 2]

27T 4
O 2 b=(x"+y?) = fP(a-xt ) o =
XS gta b v i T k g(i(ﬁ-g‘)iﬂfg)"f(‘f :

1

2w
= Sd(f S(Aq_%s) atg:'
0 0



